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QUESTION 1

Which three statements are true regarding a VSP G400 configuration for a Microsoft Exchange Server environment?
(Choose three.) 

A. RAID 1+0 is a recommended RAID level for the database volumes. 

B. RAID 6 is a recommended RAID level for the database volumes. 

C. HDP is a recommended configuration for database volumes. 

D. Parity group concatenation is recommended. 

E. Microsoft JetStress testing should be used to validate the required performance. 

Correct Answer: BDE 

 

QUESTION 2

Which three key metrics are required for sizing applications? (Choose three.) 

A. cache read hit ratios 

B. IOPS 

C. I/O read/write ratios 

D. number of BED pairs 

E. port speed 

Correct Answer: ABC 

 

QUESTION 3

On a VSP G1000, the maximum I/O Request Limit for an external initiator port has been exceeded. What are two
consequences of this activity? (Choose two.) 

A. New writes will back up into the VSP G1000 cache. 

B. The host will see rapidly rising response times per request. 

C. The host will see a minor change in response times. 

D. The host will not be able to process new I/O requests. 

Correct Answer: CD 
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QUESTION 4

Which three functions are performed by a VSP G1000 Virtual Storage Director (VSD)? (Choose three.) 

A. It executes host I/O requests. 

B. It calculates parity. 

C. It manages cache segment usage. 

D. It moves data to/from cache. 

E. It executes software such as HDP or copy products. 

Correct Answer: ACD 

 

QUESTION 5

A VSP G800 HDT pool contains FMDs, NL-SAS drives, external storage with 15K 600 GB SAS drives, and external
storage with 10K 900 GB SAS drives. 

Which tier level contains the NL-SAS drives in this configuration? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: A 
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